# ON TWO- $\alpha$ -CONVEX SEQUENCES OF ORDER THREE

#### XH. Z. KRASNIQI

ABSTRACT. The class of convex sequences came across in several branches of mathematics as well as their generalizations. The present paper introduces a new classes of convex sequences, the class of two- $\alpha$ -convex sequences of order three. Moreover, the characterization of sequences belonging to this class is shown.

#### 1. INTRODUCTION

Convex sequences as entirety can be considered as one of the most important subclasses of the class of real sequences. This class is raised as a result of some efforts to solve several problems in mathematics. Of course, the sequences that belong to that class have useful applications in some branches of mathematics, in particular, in mathematical analysis. For instance, such sequences are widely used in theory of inequalities (see [16], [9], [10]), in absolute summability of infinite series (see [1], [2]), and in theory of Fourier series, related to their uniform convergence and the integrability of their sum functions (see as example [8], page 587). Here, in this paper, we are going to introduce a new class of "convex" sequences, which indeed generalizes a class of sequences introduced previously by others. To do this, we need first to recall some notations and notions as follows.

Let  $(a_n)_{n=0}^{\infty}$  be a real sequence. It is previously defined that

$$\triangle^{1}a_{n} = a_{n+1} - a_{n}, \quad \triangle^{2}a_{n} = \triangle(\triangle a_{n}), \quad \triangle^{3}a_{n} = \triangle(\triangle^{2}a_{n}), \qquad n = 0, 1, \dots,$$

and throughout the paper, we shall write  $\triangle a_n$  instead of  $\triangle^1 a_n$ .

The following definition presents the concept of convexity of order three of a sequence.

**Definition 1.1.** A sequence  $(a_n)_{n=0}^{\infty}$  is said to be convex of order three if

$$\Delta^3 a_n \ge 0$$

for all  $n \in \{0, 1, 2, \dots\}$ .

Next Lemma has been proved by Gh. Toader, which characterizes the convex sequences of order three, and can be simplified as follows.

<sup>2010</sup> Mathematics Subject Classification. Primary 26A51, 26A48, 26D15..

Key words and phrases. Convexity of order 3,  $\alpha$ -convexity, (p,q;r)-convexity, 2-starshaped sequence of order 3.

**Lemma 1.1** ([12]). The sequence  $(a_n)_{n=0}^{\infty}$  is convex of order three if and only if

$$a_n = \frac{1}{2} \sum_{k=0}^n (n-k+2)(n-k+1)b_k$$

with  $b_k \geq 0$  and  $k \geq 3$ .

Various generalizations of convexity here benn studied by many authors, for instance, *p*-convexity (see [7]), (p,q)-convexity (see [6]), (p,q;r)-convexity, and  $\alpha$ -convexity of higher order (see [3]–[5]).

Two other classes of sequences, the so-called two-starshaped sequences of order three and  $\alpha$ -convex sequences were introduced in [13] and [11].

Indeed, throughout this paper be  $\alpha \in [0, 1]$  be.

**Definition 1.2.** A sequence  $(a_n)_{n=0}^{\infty}$  is called  $\alpha$ -convex if the sequence

$$\left(\alpha(a_{n+1}-a_n)+(1-\alpha)\frac{a_n-a_0}{n}\right)_{n=1}^{\infty}$$

is increasing.

**Definition 1.3.** A sequence  $(a_n)_{n=0}^{\infty}$  is called two-starshaped of order three if it satisfies the relation

$$\frac{a_{n+3} - a_0}{n+3} \ge \frac{a_{n+2} - a_1}{n+1}$$

for  $n \geq 0$ .

Next Lemma characterizes sequences that are two-starshaped of order three.

**Lemma 1.2** ([13]). The sequence  $(a_n)_{n=0}^{\infty}$  is a starshaped two-starshaped of order three if and only if

$$a_n = n(n-1)\sum_{k=2}^n d_k + nd_1 - (n-1)d_0,$$

where  $d_k \geq 0$  and  $k \geq 3$ .

Now we are able to introduce a new class of sequences by the following definition.

**Definition 1.4.** A sequence  $(a_n)_{n=0}^{\infty}$  is called two- $\alpha$ -convex of order three if the sequence

$$\left(\alpha \bigtriangleup^3 a_n + (1-\alpha) \left(\frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1}\right)\right)_{n=0}^{\infty}$$

is nonnegative for all  $n \in \{0, 1, 2, \dots\}$ .

**Remark 1.1.** We note that for  $\alpha = 1$ , a two- $\alpha$ -convex sequence of order three is the same as its convexity of order three, while for  $\alpha = 0$ , a two- $\alpha$ -convex sequence of order three is the same as its two-starshapedness of order three.

The main aim of this paper is to characterize the two- $\alpha$ -convex sequences of order three as well as to show some of their basic properties.

## 2. Main Results

At first, we begin with the following statement. It gives some equivalent conditions under which a sequence is a two- $\alpha$ -convex sequence of order three.

**Theorem 2.1.** The sequence  $(a_n)_{n=0}^{\infty}$ , is two- $\alpha$ -convex sequence of order three if and only if

 $(a_n - a_0 + \alpha [n(a_n - 2a_{n-1} + a_{n-2}) - (a_n - a_0)])_{n=0}^{\infty}, \qquad (a_{-1} := a_{-2} := 0),$ is a two starshaped sequence of order three and  $a_1 \ge 2a_0 + \triangle^2 a_n$ ,  $n \in \{0, 1, ...\}$ .

*Proof.* For the sake of brevity, we denote

$$A_n := a_n - a_0 + \alpha [n(a_n - 2a_{n-1} + a_{n-2}) - (a_n - a_0)], \qquad n \in \{0, 1, \dots\},$$
  
which can be rewritten as

which can be rewritten as ( .

$$A_n = \alpha n(a_n - 2a_{n-1} + a_{n-2}) + (1 - \alpha)(a_n - a_0), \qquad n \in \{0, 1, \dots\}.$$
  
Since  $A_0 = 0, A_1 = a_1 - (1 + \alpha)a_0$ , and  $a_1 \ge 2a_0 + \triangle^2 a_n, n \in \{0, 1, \dots\}$ , we have  
 $A_{n+3} - A_0 = A_{n+2} - A_1$ 

$$\begin{aligned} & \frac{A_{n+3} - A_0}{n+3} - \frac{A_{n+2} - A_1}{n+1} \ge 0 \\ \Leftrightarrow & \frac{\alpha(n+3)(a_{n+3} - 2a_{n+2} + a_{n+1}) + (1-\alpha)(a_{n+3} - a_0)}{n+3} \\ & - \frac{\alpha(n+2)(a_{n+2} - 2a_{n+1} + a_n) + (1-\alpha)(a_{n+2} - a_0) - a_1 + (1+\alpha)a_0}{n+1} \ge 0 \\ \Leftrightarrow & \alpha(a_{n+3} - 2a_{n+2} + a_{n+1}) + (1-\alpha)\frac{a_{n+3} - a_0}{n+3} \\ & -\alpha(a_{n+2} - 2a_{n+1} + a_n) - (1-\alpha)\frac{a_{n+2} - a_1}{n+1} \\ & - \frac{\alpha(a_{n+2} - 2a_{n+1} + a_n) + (1-\alpha)(a_1 - a_0) - a_1 + (1+\alpha)a_0}{n+1} \ge 0 \\ \Leftrightarrow & \alpha \bigtriangleup^3 a_n + (1-\alpha) \left(\frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1}\right) + \alpha \frac{a_1 - 2a_0 - \bigtriangleup^2 a_n}{n+1} \ge 0. \end{aligned}$$
 for all  $n \in \{0, 1, 2, \ldots\}.$ 

The proof is completed.

Next theorem characterizes a type of two- $\alpha$ -convex sequence of order three under some natural conditions.

**Theorem 2.2.** The sequence  $(a_n)_{n=0}^{\infty}$ , is two- $\alpha$ -convex sequence of order three if and only if it may be represented by

(1) 
$$a_n = n(n-1)\sum_{k=2}^n d_k + nd_1 - (n-1)d_0 \quad \text{for } n \ge 2,$$

and  $a_0 = d_0$ ,  $a_1 = d_0$  with

(2) 
$$d_{n+3} \ge 2\left[1 - \frac{2\alpha + 1}{\alpha(n+2) + 1}\right] (\triangle d_{n+1}),$$

and  $d_n \ge 0, n \in \{3, 4, \dots\}.$ 

`

*Proof.* On one hand, taking (1) into account as in [13, page 4], we easily get

(3)  $angle^3(a_n) = (n+2)(n+3)d_{n+3} - 2n(n+2)d_{n+2} + n(n-1)d_{n+1}$ and

(4) 
$$\frac{a_{n+3}-a_0}{n+3} - \frac{a_{n+2}-a_1}{n+1} = (n+2)d_{n+3}.$$

Based on (3) and (4), we obtain

$$\alpha \bigtriangleup^3 (a_n) + (1-\alpha) \left( \frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1} \right)$$
  
=  $(n+2) [\alpha(n+2) + 1] d_{n+3} - 2\alpha n(n+2) d_{n+2} + \alpha n(n-1) d_{n+1}.$ 

Subsequently, it follows that

$$\alpha \bigtriangleup^3 (a_n) + (1 - \alpha) \left( \frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1} \right) \ge 0$$

if and only if

$$d_{n+3} \ge 2 \Big[ 1 - \frac{2\alpha + 1}{\alpha(n+2) + 1} \Big] d_{n+2} - \frac{\alpha n(n-1)}{(n+2)[\alpha(n+2) + 1]} d_{n+1}.$$

Last condition can be estimated as

$$d_{n+3} \ge 2 \left[ 1 - \frac{2\alpha + 1}{\alpha(n+2) + 1} \right] (d_{n+2} - d_{n+1}),$$

since  $d_k \ge 0$  and

$$2\Big[1 - \frac{2\alpha + 1}{\alpha(n+2) + 1}\Big] > \frac{\alpha n(n-1)}{(n+2)[\alpha(n+2) + 1]},$$

which can be simplified in the form n + 3 > 0, which is always true. The proof is completed

The proof is completed.

Using the above statement, we are able to prove an inclusion theorem, pertaining to a two- $\alpha$ -convex sequence of order three, and of course, based on different values of  $\alpha$ .

**Theorem 2.3.** Let the sequence  $(d_n)_{n=3}^{\infty}$  in the representation (1) be increasing. If the sequence  $(a_n)_{n=0}^{\infty}$  is a two- $\alpha$ -convex sequence of order three, then it is two- $\beta$ -convex sequence of order three for  $0 \leq \beta \leq \alpha$ .

*Proof.* The proof follows from Theorem 2.2. Indeed, let the sequence  $(a_n)_{n=0}^{\infty}$  be a two- $\alpha$ -convex sequence of order three. Then, it may be represented by (1) with

$$d_{n+3} \ge 2\left[1 - \frac{2\alpha + 1}{\alpha(n+2) + 1}\right] (d_{n+2} - d_{n+1})$$

and  $d_n \ge 0, n \ge 3$ .

Since  $0 \leq \beta \leq \alpha$  and  $(d_n)_{n=3}^{\infty}$  is increasing, we also have

$$d_{n+3} \ge 2\left[1 - \frac{2\beta + 1}{\beta(n+2) + 1}\right] (d_{n+2} - d_{n+1}),$$

76

with the same conditions as above, which shows that the sequence  $(a_n)_{n=0}^{\infty}$  is a two- $\beta$ -convex sequence of order three as well.

The proof is completed.

77

The authors of [14] introduced the following mean

(5) 
$$A_n(p) = \frac{a_n + pa_{n+1}}{p+1}$$

for an arbitrary real sequence  $a := (a_n)_{n=0}^{\infty}$ , where p is a given nonnegative real number.

Assume that P is a property which a sequence may or may not posse. It is written P(a) to indicate that the sequence  $(a_n)_{n=0}^{\infty}$  has the property P. There exist s properties P such that the following implication

$$P(a) \Longrightarrow P(A(p))$$

holds true, where A(p) is defined by (5).

- Just to give some examples, we have these two simple cases:
- 1) If a is a positive sequence, then A(p) is also a positive sequence;
- 2) If a is a convergent sequence and  $\lim_{n\to\infty} a_n = s$ , then

$$(A_n)_{n=0}^{\infty} := \left(\frac{1}{n+1}\sum_{m=0}^n a_m\right)_{n=0}^{\infty}$$

is also a convergent sequence and  $\lim_{n\to\infty} A_n = s$ . Now, we are going to extend the class of properties P satisfying (6).

**Theorem 2.4.** Let the sequence  $(a_n)_{n=0}^{\infty}$  be a two- $\alpha$ -convex sequence of order three and

(7)  

$$(n+2)(n+3)(n+4)a_2 - (n+1)(n+4)(2n+5)a_1 + (n+1)(n+2)(n+3)a_0$$
  
 $\ge (n+3)(n+4)a_{n+3} - (n+1)(n+2)a_{n+4},$ 

where  $n \ge 0$ . Then for any real number  $p \ge 0$ , the sequence  $(A_n(p))_{n=0}^{\infty}$  is also a two- $\alpha$ -convex of order three.

*Proof.* Using the assumption of Theorem 2.4, we get

$$\alpha \bigtriangleup^{3}(a_{n}) + (1-\alpha)\left(\frac{a_{n+3}-a_{0}}{n+3} - \frac{a_{n+2}-a_{1}}{n+1}\right) \ge 0$$

and

$$\alpha \bigtriangleup^3 (a_{n+1}) + (1-\alpha) \left( \frac{a_{n+4} - a_0}{n+4} - \frac{a_{n+3} - a_1}{n+2} \right) \ge 0.$$

Subsequently, taking into account the last two inequalities, we obtain

$$\begin{split} &\alpha \bigtriangleup^3 (A_n(p)) + (1-\alpha) \left( \frac{A_{n+3}(p) - A_0(p)}{n+3} - \frac{A_{n+2}(p) - A_1(p)}{n+1} \right) \\ &= \alpha \left( -\frac{a_n + pa_{n+1}}{p+1} + 3\frac{a_{n+1} + pa_{n+2}}{p+1} - 3\frac{a_{n+2} + pa_{n+3}}{p+1} + \frac{a_{n+3} + pa_{n+4}}{p+1} \right) \\ &+ (1-\alpha) \left( \frac{a_{n+3} + pa_{n+4}}{n+3} - \frac{a_0 + pa_1}{p+1} - \frac{a_{n+2} + pa_{n+3}}{p+1} - \frac{a_{1} + pa_2}{p+1} \right) \\ &= \frac{1}{p+1} \left[ \alpha (-a_n + 3a_{n+1} - 3a_{n+2} + a_{n+3}) \right] \\ &+ \frac{p}{p+1} \left[ \alpha (-a_{n+1} + 3a_{n+2} - 3a_{n+3} + a_{n+4}) \right] \\ &+ \frac{1}{p+1} \left[ \left( 1 - \alpha \right) \left( \frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1} \right) \right] \\ &+ \frac{p}{p+1} \left[ \left( 1 - \alpha \right) \left( \frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1} \right) \right] \\ &= \frac{1}{p+1} \left[ \alpha \bigtriangleup^3 (a_n) + (1 - \alpha) \left( \frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1} \right) \right] \\ &+ \frac{p}{p+1} \left[ \alpha \bigtriangleup^3 (a_n) + (1 - \alpha) \left( \frac{a_{n+4} - a_1}{n+3} - \frac{a_{n+3} - a_2}{n+1} \right) \right] \\ &= \frac{1}{p+1} \left[ \alpha \bigtriangleup^3 (a_n) + (1 - \alpha) \left( \frac{a_{n+4} - a_1}{n+3} - \frac{a_{n+3} - a_2}{n+1} \right) \right] \\ &+ \frac{p}{p+1} \left[ \alpha \bigtriangleup^3 (a_n) + (1 - \alpha) \left( \frac{a_{n+4} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1} \right) \right] \\ &+ \frac{p}{p+1} \left[ \alpha \bigtriangleup^3 (a_{n+1}) + (1 - \alpha) \left( \frac{a_{n+4} - a_0}{n+3} - \frac{a_{n+3} - a_2}{n+1} \right) \right] \\ &+ \frac{p}{p+1} \left[ \alpha \bigtriangleup^3 (a_{n+1}) + (1 - \alpha) \left( \frac{a_{n+4} - a_0}{n+4} - \frac{a_{n+3} - a_1}{n+1} \right) \right] \\ &+ \frac{p}{(n+1)(n+2)(n+3)(n+4)} \\ &\times \left( (n+1)(n+2)a_{n+4} - (n+3)(n+4)a_{n+3} + (n+2)(n+3)(n+4)a_2 \\ &- (n+1)(n+4)(2n+5)a_1 + (n+1)(n+2)(n+3)a_0 \right) \ge 0, \end{split}$$

because of (7),  $\frac{1}{p+1} > 0$  and  $\frac{p}{p+1} \ge 0$   $(p \ge 0, \alpha \in [0, 1])$ . The proof is completed.

The above theorem holds true also for  $\alpha$ -convex sequences. Namely,

**Theorem 2.5.** Let the sequence  $(a_n)_{n=0}^{\infty}$  be an  $\alpha$ -convex sequence such that  $na_{n+2} - (n+2)a_{n+1} \ge na_0 - (n+2)a_1, n \ge 1$ . Then for any real number  $p \ge 0$ , the  $(A_n(p))_{n=0}^{\infty}$  is also an  $\alpha$ -convex sequence.

*Proof.* Since  $(a_n)_{n=0}^{\infty}$  is an  $\alpha$ -convex sequence, then

$$\alpha \bigtriangleup^2 (a_n) + (1 - \alpha) \left( \frac{a_{n+1} - a_0}{n+1} - \frac{a_n - a_0}{n} \right) \ge 0$$

and

$$\alpha \bigtriangleup^2 (a_{n+1}) + (1-\alpha) \left( \frac{a_{n+2} - a_0}{n+2} - \frac{a_{n+1} - a_0}{n+1} \right) \ge 0$$

hold true.

Whence, we have  

$$\begin{aligned} \alpha \bigtriangleup^2 (A_n(p)) + (1-\alpha) \left( \frac{A_{n+1}(p) - A_0(p)}{n+1} - \frac{A_n(p) - A_0(p)}{n} \right) \\ &= \alpha \left( \frac{a_n + pa_{n+1}}{p+1} - 2 \frac{a_{n+1} + pa_{n+2}}{p+1} + \frac{a_{n+2} + pa_{n+3}}{p+1} \right) \\ &+ (1-\alpha) \left( \frac{\frac{a_{n+1} + pa_{n+2}}{p+1} - \frac{a_0 + pa_1}{p+1}}{n+1} - \frac{\frac{a_n + pa_{n+1}}{p+1} - \frac{a_0 + pa_1}{p+1}}{n} \right) \\ &= \frac{\alpha}{1+p} \bigtriangleup^2 (a_n) + \frac{\alpha p}{1+p} \bigtriangleup^2 (a_{n+1}) \\ &+ \frac{1-\alpha}{1+p} \left( \frac{a_{n+1} - a_0}{n+1} - \frac{a_n - a_0}{n} \right) + \frac{(1-\alpha)p}{1+p} \left( \frac{a_{n+2} - a_1}{n+1} - \frac{a_{n+1} - a_1}{n} \right) \\ &= \frac{1}{1+p} \left[ \alpha \bigtriangleup^2 (a_n) + (1-\alpha) \left( \frac{a_{n+1} - a_0}{n+1} - \frac{a_n - a_0}{n} \right) \right] \\ &+ \frac{p}{1+p} \left[ \alpha \bigtriangleup^2 (a_n) + (1-\alpha) \left( \frac{a_{n+2} - a_1}{n+1} - \frac{a_{n+1} - a_1}{n} \right) \right] \\ &= \frac{1}{1+p} \left[ \alpha \bigtriangleup^2 (a_n) + (1-\alpha) \left( \frac{a_{n+2} - a_1}{n+1} - \frac{a_{n+1} - a_1}{n} \right) \right] \\ &+ \frac{p}{1+p} \left[ \alpha \bigtriangleup^2 (a_n) + (1-\alpha) \left( \frac{a_{n+2} - a_1}{n+1} - \frac{a_{n+1} - a_1}{n} \right) \right] \\ &+ \frac{p}{1+p} \left[ \alpha \bigtriangleup^2 (a_{n+1}) + (1-\alpha) \left( \frac{a_{n+2} - a_1}{n+1} - \frac{a_{n+1} - a_1}{n} \right) \right] \\ &+ \frac{p}{1+p} \left[ \alpha \bigtriangleup^2 (a_{n+1}) + (1-\alpha) \left( \frac{a_{n+2} - a_1}{n+1} - \frac{a_{n+1} - a_1}{n} \right) \right] \\ &+ \frac{p(1-\alpha)}{1+p} \frac{na_{n+2} - (n+2)a_{n+1} + (n+2)a_1 - na_0}{n(n+1)(n+2)} \ge 0, \end{aligned}$$

based on the assumptions of the theorem,  $\frac{1}{p+1} > 0$  and  $\frac{p}{p+1} \ge 0$   $(p \ge 0, p \ge 0)$  $\alpha \in [0, 1]).$ 

The proof is completed.

1+p

Putting  $\alpha = 1$  in Theorem 2.5, we immediately obtain

**Corollary 2.1** ([14]). If the sequence  $(a_n)_{n=0}^{\infty}$  is a convex sequence, then for any real number  $p \ge 0$ , the  $(A_n(p))_{n=0}^{\infty}$  is also a convex sequence.

Let us finish our study with a result connected to "convexity" of some weighted arithmetic means. Indeed, let the sequence  $(X_n)_{n=0}^{\infty}$  be given by

(8) 
$$X_n = \frac{p_0 x_0 + \dots + p_n x_n}{p_0 + \dots + p_n}$$

for  $n \ge 0$  and a given sequence  $(x_n)_{n=0}^{\infty}$ , where the sequence  $(p_n)_{n=0}^{\infty}$  is a positive one.

For some fixed sequences  $a, b, c, d, e \colon \mathbb{N} \to \mathbb{R}$ , let

$$Tx_n = a(n)x_{n+3} + b(n)x_{n+2} + c(n)x_{n+1} + d(n)x_n + e(n)x_0$$

and

$$S^{2} = \{ (x_{n})_{n=0}^{\infty} : Tx_{n} \ge 0 \text{ for all } n \ge 0 \}.$$

**Theorem 2.6.** If  $(kn)_{n=0}^{\infty} \in S^2$  for any  $k \in \mathbb{R}^+ \cup \{0\}$ , and  $(X_n)_{n=0}^{\infty} \in S^2$  for any  $(x_n)_{n=0}^{\infty} \in S^2$ , then there exists u > 0 such that the weights  $p_n$  are of the form

$$(9) p_n = p_0 \binom{u+n-1}{n}.$$

where  $p_0, p_1 > 0$  and  $n \ge 0$ .

Proof. For the proof we will use mathematical induction. It is obvious that if the condition

(10) 
$$a(n)(n+3) + b(n)(n+2) + c(n)(n+1) + d(n)n = 0$$

is satisfied, then  $(kn)_{n=0}^{\infty} \in S^2$  for any  $k \in \mathbb{R}^+ \cup \{0\}$ . For the same sequence, the relation (8) takes the form

$$X_n = k \cdot \frac{1 \cdot p_1 + \dots + n \cdot p_n}{p_0 + \dots + p_n} \ge 0,$$

which by assumption, belongs to  $S^2$ . We have

$$p_1 = p_0 \cdot \frac{p_1}{p_0} = p_0 u = p_0 \binom{u+1-1}{1},$$

where we put  $u = p_1/p_0 > 0$ .

Putting n = 0 in (10) we find

(11) 
$$c(0) = -3a(0) - 2b(0),$$

and

$$X_0 = 0, \quad X_1 = k \frac{u}{1+u}, \quad X_2 = k \frac{up_0 + 2p_2}{p_0(1+u) + p_2}, \quad X_3 = k \frac{up_0 + 2p_2 + 3p_3}{p_0(1+u) + p_2 + p_3}$$

Using (11) and above equalities, we obtain

$$TX_{0} = a(0)X_{3} + b(0)X_{2} + c(0)X_{1}$$
  
=  $k \left[ a(0) \frac{up_{0} + 2p_{2} + 3p_{3}}{p_{0}(1+u) + p_{2} + p_{3}} + b(0) \frac{up_{0} + 2p_{2}}{p_{0}(1+u) + p_{2}} + c(0) \frac{u}{1+u} \right]$   
=  $ka(0) \left[ \frac{up_{0} + 2p_{2} + 3p_{3}}{p_{0}(1+u) + p_{2} + p_{3}} - \frac{3u}{1+u} \right] + kb(0) \left[ \frac{up_{0} + 2p_{2}}{p_{0}(1+u) + p_{2}} - \frac{2u}{1+u} \right].$ 

Therefore, if

$$\begin{cases} \frac{up_0 + 2p_2}{p_0(1+u) + p_2} = \frac{2u}{1+u} \\ \frac{up_0 + 2p_2 + 3p_3}{p_0(1+u) + p_2 + p_3} = \frac{3u}{1+u}, \end{cases}$$

then  $TX_0 \ge 0$  for any  $k \in \mathbb{R}^+ \cup \{0\}$ . Solving the above system of equations, for  $p_2$  and  $p_3$ , we easily find

$$p_{2} = p_{0} \frac{u(1+u)}{2} = p_{0} \binom{u+2-1}{2} \text{ and}$$
$$p_{3} = p_{0} \frac{u(1+u)(u+2)}{6} = p_{0} \binom{u+3-1}{3}.$$

Assume that (9) holds true for all  $n \leq m + 1$ . Following [15, page 4], we use the following relations

$$X_m = k \frac{um}{u+1}, \qquad X_{m+1} = k \frac{u(m+1)}{u+1}$$

and

$$X_{m+2} = k \frac{u p_0 \binom{u+m+1}{m} + (m+2) p_{m+2}}{p_0 \binom{u+m+1}{m} + p_{m+2}}.$$

Now we note that

$$\begin{aligned} X_{m+3} &= k \frac{\sum_{i=0}^{m} ip_i + (m+2)p_{m+2} + (m+3)p_{m+3}}{\sum_{i=0}^{m} p_i + p_{m+2} + p_{m+3}} \\ &= k \frac{\sum_{i=0}^{m} ip_0 \binom{(u+i-1)}{i} + (m+2)p_{m+2} + (m+3)p_{m+3}}{\sum_{i=0}^{m} p_0 \binom{(u+i-1)}{i} + p_{m+2} + p_{m+3}} \\ &= k \frac{up_0 \sum_{i=0}^{m} \binom{(u+i-1)}{i-1} + (m+2)p_{m+2} + (m+3)p_{m+3}}{p_0 \sum_{i=0}^{m} \binom{(u+i-1)}{i} + p_{m+2} + p_{m+3}} \\ &= k \frac{up_0 \binom{(u+m+1)}{m} + (m+2)p_{m+2} + (m+3)p_{m+3}}{p_0 \binom{(u+m+1)}{m+1} + p_{m+2} + p_{m+3}}, \end{aligned}$$

which along with the above equalities and (10), implies

$$\begin{split} TX_m &= a(m)X_{m+3} + b(m)X_{m+2} + c(m)X_{m+1} + d(m)X_m \\ &= a(m)k\frac{up_0\binom{u+m+1}{m} + (m+2)p_{m+2} + (m+3)p_{m+3}}{p_0\binom{u+m+1}{m+1} + p_{m+2} + p_{m+3}} \\ &+ b(m)k\frac{up_0\binom{u+m+1}{m} + (m+2)p_{m+2}}{p_0\binom{u+m+1}{m} + p_{m+2}} \\ &+ k\frac{u}{u+1}\left[c(m)(m+1) + d(m)m\right] \\ &= a(m)k\left[\frac{up_0\binom{u+m+1}{m} + (m+2)p_{m+2} + (m+3)p_{m+3}}{p_0\binom{u+m+1}{m+1} + p_{m+2} + p_{m+3}} - \frac{u(m+3)}{u+1}\right] \\ &+ b(m)k\left[\frac{up_0\binom{u+m+1}{m} + (m+2)p_{m+2}}{p_0\binom{u+m+1}{m} + p_{m+2}} - \frac{u(m+2)}{u+1}\right]. \end{split}$$

Consequently,  $TX_m \ge 0$  for any  $k \in \mathbb{R}^+ \cup \{0\}$ , if

$$\begin{cases} \frac{up_0\binom{u+m+1}{m} + (m+2)p_{m+2}}{p_0\binom{u+m+1}{m} + p_{m+2}} = \frac{u(m+2)}{u+1} \\ \frac{up_0\binom{u+m+1}{m} + (m+2)p_{m+2} + (m+3)p_{m+3}}{p_0\binom{u+m+1}{m+1} + p_{m+2} + p_{m+3}} = \frac{u(m+3)}{u+1} \end{cases}$$

Solving the first equation for  $p_{m+2}$ , we can find (after some appropriate calculations)

$$p_{m+2} = p_0 \binom{u+m+2-1}{m+2},$$

while putting this into second equality of the last system of equations, we also find

$$p_{m+3} = \frac{up_0}{m+3} \left[ (m+3) \binom{u+m+1}{m+1} - (u+1) \binom{u+m+1}{m} \right] \\ + \frac{u-m-2}{m+3} p_{m+2} \\ = \frac{up_0}{m+3} \left[ (m+3) \binom{u+m+1}{m+1} - (m+1) \binom{u+m+1}{m+1} \right] \\ + \frac{u-m-2}{m+3} p_0 \binom{u+m+1}{m+2} \\ = \frac{up_0}{m+3} \left[ 2 \binom{u+m+1}{m+1} + \binom{u+m+1}{m+2} \right] - \frac{m+2}{m+3} p_0 \binom{u+m+1}{m+2} \\ = \frac{up_0}{m+3} \left[ \binom{u+m+1}{m+1} + \binom{u+m+2}{m+2} \right] - \frac{up_0}{m+3} \binom{u+m+1}{m+1} \\ = \frac{up_0}{m+3} \binom{u+m+2}{m+2} = p_0 \binom{u+m+3-1}{m+3},$$

which by induction, proves the assertion of our theorem.

The proof is completed.

**Corollary 2.2.** If for any two- $\alpha$ -convex sequence  $(x_n)_{n=0}^{\infty}$  of order three the sequence,  $(X_n)_{n=0}^{\infty}$  is a two- $\alpha$ -convex of order three, then there exists u > 0 such that the weights  $p_n$  are of the form (9).

*Proof.* Since for the sequence  $(a_n)_{n=0}^{\infty} = (kn)_{n=0}^{\infty}$ , we have

$$\alpha \bigtriangleup^3 a_n + (1 - \alpha) \left( \frac{a_{n+3} - a_0}{n+3} - \frac{a_{n+2} - a_1}{n+1} \right) = 0,$$

then it means that  $(a_n)_{n=0}^{\infty}$  is a two- $\alpha$ -convex sequence of order three. Therefore, the assertion of this corollary is an immediate result of the Theorem 2.6.

Acknowledgment. The author would like to express his deep-felt gratitude for the reviewer's valuable comments to improve this paper to the present form. I also would like to thank Professor Naim L. Braha, my ex supervisor, for his advices.

#### References

- 1. Bor H., A new application of convex sequences, J. Class. Anal. 1(1) (2012), 31-34.
- Bor H. and Krasniqi Xh. Z., A note on absolute Cesàro summability factors, Adv. Pure Appl. Math. 3(3) (2012), 259–264.
- **3.** Krasniqi Xh. Z., Some properties of (p,q;r)-convex sequences, Appl. Math. E-Notes **15** (2015), 38–45.
- Krasniqi Xh. Z., Characterizations of (p, α)-convex sequences, Appl. Math. E-Notes 17 (2017), 77–84.
- Krasniqi Xh. Z., On α-convex sequences of higher order, J. Numer. Anal. Approx. Theory 45(2) (2016), 177–182.
- Kocić L. M. and Milovanović I. Z., A property of (p,q)-convex sequences, Period. Math. Hungar. 17(1) (1986), 25–26.
- Lacković I. B. and Jovanović M. R., On a class of real sequences which satisfy a difference inequality, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat, 678 (1980), 99–104.
- Makarov B. and Podkorytov A., Real Analysis: Measures, Integrals and Applications, Springer–Verlag London, 2013.
- Pečarić J. E., On some inequalities for convex sequences, Publ. Inst. Math. (Beograd) (N.S.) 33(47) (1983), 173–178.
- Qi F. and Guo B.-N., Monotonicity of sequences involving convex function and sequence, Math. Inequal. Appl. 9(2) (2006), 247–254.
- Toader Gh., α-convex sequences. Itinerant seminar on functional equations, approximation and convexity, (Cluj-Napoca, 1983), 167–168, Preprint, 83-2, Univ. "Babes-Bolyai", Cluj-Napoca, 1983.
- 12. Toader Gh., Generalized convex sequences, Studia Univ. Babeş-Bolyai, 29(1984), 43-46.
- Toader Gh., On the hierarchy of convexity of order three of sequences, Seminar on mathematical analysis (Cluj-Napoca, 1985), 45–56, Preprint, 85-7, Univ. "Babeş-Bolyai", Cluj-Napoca, 1985.
- 14. Toader Gh. and Tigan Ş., Some generalizations of convexity for sequences, Itinerant seminar on functional equations, approximation and convexity (Cluj-Napoca, 1984), 199–202, Preprint, 84-6, Univ. "Babeş-Bolyai", Cluj-Napoca, 1984.
- Toader Gh., A transformation that preserves some sequence classes, Seminarul "Theodor Angheluță", Cluj-Napoca, 1983, 219–222.
- Wu S. and Debnath L., Inequalities for convex sequences and their applications, Comput. Math. Appl. 54(4) (2007), 525–534.

Xh. Z. Krasniqi, University of Prishtina, Faculty of Education, Department of Mathematics and Informatics, *current address*: Avenue "Mother Theresa" no. 5, Prishtinë 10000, Kosovo, *e-mail*: xhevat.krasniqi@uni-pr.edu